



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	N Amulya	Class	VII - E
Father Name	Prasad	Roll #	1
Address	Nagepur		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	4.0	5.0	19.0	95.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 118.0/120.0	Overall Percentage - 98.33%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	G Harshavardhan Reddy	Class	VII - E
Father Name	Naga Reddy	Roll #	1
Address	Tadbiloli		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	2.0	5.0	5.0	4.0	16.0	80.0%	A2	9.0
HINDI	20.0	3.0	4.0	3.0	4.0	14.0	70.0%	B1	8.0
ENGLISH	20.0	3.0	5.0	5.0	5.0	18.0	90.0%	A2	9.0
MATHEMATICS	20.0	3.0	5.0	5.0	4.0	17.0	85.0%	A2	9.0
GENERAL SCIENCE	20.0	3.0	5.0	5.0	4.0	17.0	85.0%	A2	9.0
SOCIAL STUDIES	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0

Total Mark - 100.0/120.0	Overall Percentage - 83.33%	Grade - A2	Grade Point - 9.0
--------------------------	-----------------------------	------------	-------------------

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0

FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	G Dhamini	Class	VII - E
Father Name	Ravindhar	Roll #	2
Address	Navipet		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	3.0	5.0	4.0	5.0	17.0	85.0%	A2	9.0
HINDI	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
GENERAL SCIENCE	20.0	2.0	5.0	5.0	5.0	17.0	85.0%	A2	9.0
SOCIAL STUDIES	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0

Total Mark - 108.0/120.0	Overall Percentage - 90.00%	Grade - A2	Grade Point - 9.0
--------------------------	-----------------------------	------------	-------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	E Gayatri	Class	VII - E
Father Name	Mahendhar	Roll #	3
Address	Binola		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	3.0	5.0	5.0	5.0	18.0	90.0%	A2	9.0
HINDI	20.0	4.0	4.0	5.0	4.0	17.0	85.0%	A2	9.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
GENERAL SCIENCE	20.0	3.0	5.0	5.0	5.0	18.0	90.0%	A2	9.0
SOCIAL STUDIES	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0

Total Mark - 108.0/120.0	Overall Percentage - 90.00%	Grade - A2	Grade Point - 9.0
--------------------------	-----------------------------	------------	-------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	G Geethika	Class	VII - E
Father Name	GangaPrasad	Roll #	4
Address	Navipet		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
SOCIALSTUDIES	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0

Total Mark - 117.0/120.0	Overall Percentage - 97.50%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	Javeria Begum	Class	VII - E
Father Name	Shadulla	Roll #	5
Address	Jalalpur		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 118.0/120.0	Overall Percentage - 98.33%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	M Loukyasri	Class	VII - E
Father Name	Nagesh	Roll #	6
Address	Pothangal		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 115.0/120.0	Overall Percentage - 95.83%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	R Mitravinda	Class	VII - E
Father Name	Ramesh	Roll #	7
Address	Fakirabad		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 118.0/120.0	Overall Percentage - 98.33%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	P Mounika	Class	VII - E
Father Name	Gangadhar	Roll #	8
Address	Navipet		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	-	-	-	-	-	-	-	-
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	3.0	5.0	5.0	5.0	18.0	90.0%	A2	9.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 98.0/120.0	Overall Percentage - 81.67%	Grade - A2	Grade Point - 9.0
-------------------------	-----------------------------	------------	-------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	Nashara Parveen	Class	VII - E
Father Name	Syed Gulam	Roll #	9
Address	Navipet		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	3.0	5.0	5.0	5.0	18.0	90.0%	A2	9.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 114.0/120.0	Overall Percentage - 95.00%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	G Sathwika	Class	VII - E
Father Name	Kalidasa	Roll #	10
Address	Navipet		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 117.0/120.0	Overall Percentage - 97.50%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	D Viharika	Class	VII - E
Father Name	Bhoomeshwar	Roll #	11
Address	Navipet		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
HINDI	20.0	5.0	4.0	4.0	4.0	17.0	85.0%	A2	9.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
GENERAL SCIENCE	20.0	3.0	5.0	5.0	5.0	18.0	90.0%	A2	9.0
SOCIAL STUDIES	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0

Total Mark - 109.0/120.0	Overall Percentage - 90.83%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	R Vijaya Sri	Class	VII - E
Father Name	Peerya	Roll #	12
Address	Navipet		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	3.0	5.0	5.0	4.0	17.0	85.0%	A2	9.0
GENERAL SCIENCE	20.0	3.0	4.0	4.0	4.0	15.0	75.0%	A2	9.0
SOCIAL STUDIES	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0

Total Mark - 108.0/120.0	Overall Percentage - 90.00%	Grade - A2	Grade Point - 9.0
--------------------------	-----------------------------	------------	-------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	CH Adhvaith	Class	VII - E
Father Name	Sudhakar	Roll #	14
Address	Jankampet		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	3.0	5.0	5.0	5.0	18.0	90.0%	A2	9.0
HINDI	20.0	4.0	4.0	4.0	4.0	16.0	80.0%	A2	9.0
ENGLISH	20.0	3.0	5.0	5.0	5.0	18.0	90.0%	A2	9.0
MATHEMATICS	20.0	3.0	5.0	5.0	3.0	16.0	80.0%	A2	9.0
GENERAL SCIENCE	20.0	2.0	4.0	4.0	4.0	14.0	70.0%	B1	8.0
SOCIAL STUDIES	20.0	4.0	5.0	3.0	4.0	16.0	80.0%	A2	9.0

Total Mark - 98.0/120.0	Overall Percentage - 81.67%	Grade - A2	Grade Point - 9.0
-------------------------	-----------------------------	------------	-------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	J Akhira Nandan	Class	VII - E
Father Name	Raju	Roll #	15
Address	Navipet		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	4.0	5.0	4.0	5.0	18.0	90.0%	A2	9.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	3.0	5.0	5.0	5.0	18.0	90.0%	A2	9.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 114.0/120.0	Overall Percentage - 95.00%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	Shaik Arshan	Class	VII - E
Father Name	Zameer	Roll #	16
Address	Navipet		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	3.0	5.0	3.0	5.0	16.0	80.0%	A2	9.0
HINDI	20.0	4.0	4.0	4.0	4.0	16.0	80.0%	A2	9.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	3.0	5.0	5.0	3.0	16.0	80.0%	A2	9.0
GENERAL SCIENCE	20.0	2.0	4.0	4.0	4.0	14.0	70.0%	B1	8.0
SOCIAL STUDIES	20.0	3.0	5.0	5.0	4.0	17.0	85.0%	A2	9.0

Total Mark - 98.0/120.0	Overall Percentage - 81.67%	Grade - A2	Grade Point - 9.0
-------------------------	-----------------------------	------------	-------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	R Bala Ravindhra	Class	VII - E
Father Name	Bala Kishan	Roll #	17
Address	Navipet		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	4.0	5.0	4.0	5.0	18.0	90.0%	A2	9.0
HINDI	20.0	4.0	4.0	4.0	4.0	16.0	80.0%	A2	9.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 112.0/120.0	Overall Percentage - 93.33%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	P Charan Kumar	Class	VII - E
Father Name	Raju	Roll #	18
Address	Dharmaram		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	2.0	5.0	4.0	5.0	16.0	80.0%	A2	9.0
HINDI	20.0	4.0	4.0	4.0	3.0	15.0	75.0%	A2	9.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
GENERAL SCIENCE	20.0	2.0	4.0	4.0	5.0	15.0	75.0%	A2	9.0
SOCIAL STUDIES	20.0	3.0	5.0	5.0	3.0	16.0	80.0%	A2	9.0

Total Mark - 99.0/120.0	Overall Percentage - 82.50%	Grade - A2	Grade Point - 9.0
-------------------------	-----------------------------	------------	-------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	MD Farhanuddin	Class	VII - E
Father Name	Rafeequddin	Roll #	19
Address	Navipet		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	3.0	5.0	4.0	5.0	17.0	85.0%	A2	9.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
GENERAL SCIENCE	20.0	3.0	4.0	4.0	5.0	16.0	80.0%	A2	9.0
SOCIAL STUDIES	20.0	4.0	5.0	5.0	3.0	17.0	85.0%	A2	9.0

Total Mark - 107.0/120.0	Overall Percentage - 89.17%	Grade - A2	Grade Point - 9.0
--------------------------	-----------------------------	------------	-------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	S Ganesh	Class	VII - E
Father Name	Gangadhar	Roll #	20
Address	Binola		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	4.0	5.0	4.0	5.0	18.0	90.0%	A2	9.0
HINDI	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	3.0	5.0	5.0	5.0	18.0	90.0%	A2	9.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 113.0/120.0	Overall Percentage - 94.17%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	N Harish	Class	VII - E
Father Name	Satyanarayana	Roll #	21
Address	Nagepur		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	4.0	4.0	4.0	5.0	17.0	85.0%	A2	9.0
HINDI	20.0	4.0	4.0	4.0	4.0	16.0	80.0%	A2	9.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
GENERAL SCIENCE	20.0	3.0	4.0	4.0	5.0	16.0	80.0%	A2	9.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 105.0/120.0	Overall Percentage - 87.50%	Grade - A2	Grade Point - 9.0
--------------------------	-----------------------------	------------	-------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	K Harshavardhan Reddy	Class	VII - E
Father Name	Chandra Shekar Reddy	Roll #	22
Address	Kamalapur		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	2.0	5.0	5.0	4.0	16.0	80.0%	A2	9.0
HINDI	20.0	4.0	5.0	4.0	4.0	17.0	85.0%	A2	9.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	3.0	5.0	5.0	4.0	17.0	85.0%	A2	9.0
GENERAL SCIENCE	20.0	3.0	4.0	4.0	4.0	15.0	75.0%	A2	9.0
SOCIAL STUDIES	20.0	3.0	5.0	5.0	3.0	16.0	80.0%	A2	9.0

Total Mark - 100.0/120.0	Overall Percentage - 83.33%	Grade - A2	Grade Point - 9.0
--------------------------	-----------------------------	------------	-------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	J Lokesh	Class	VII - E
Father Name	Laxman	Roll #	23
Address	Navipet		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	4.0	5.0	4.0	5.0	18.0	90.0%	A2	9.0
HINDI	20.0	4.0	4.0	4.0	4.0	16.0	80.0%	A2	9.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
GENERAL SCIENCE	20.0	3.0	5.0	5.0	5.0	18.0	90.0%	A2	9.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 109.0/120.0	Overall Percentage - 90.83%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	D Manoj Kumar	Class	VII - E
Father Name	Ramesh	Roll #	24
Address	Jankampet		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
HINDI	20.0	4.0	4.0	4.0	4.0	16.0	80.0%	A2	9.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
GENERAL SCIENCE	20.0	3.0	5.0	5.0	4.0	17.0	85.0%	A2	9.0
SOCIAL STUDIES	20.0	4.0	5.0	4.0	4.0	17.0	85.0%	A2	9.0

Total Mark - 105.0/120.0	Overall Percentage - 87.50%	Grade - A2	Grade Point - 9.0
--------------------------	-----------------------------	------------	-------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	M Pranay Kumar	Class	VII - E
Father Name	Gangadhar	Roll #	25
Address	Mahantham		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	3.0	5.0	4.0	5.0	17.0	85.0%	A2	9.0
HINDI	20.0	4.0	4.0	4.0	4.0	16.0	80.0%	A2	9.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
GENERAL SCIENCE	20.0	3.0	4.0	4.0	4.0	15.0	75.0%	A2	9.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 104.0/120.0	Overall Percentage - 86.67%	Grade - A2	Grade Point - 9.0
--------------------------	-----------------------------	------------	-------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	M Rahul	Class	VII - E
Father Name	Mohan	Roll #	26
Address	Borgaon		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	2.0	5.0	4.0	5.0	16.0	80.0%	A2	9.0
HINDI	20.0	4.0	4.0	4.0	3.0	15.0	75.0%	A2	9.0
ENGLISH	20.0	3.0	5.0	5.0	5.0	18.0	90.0%	A2	9.0
MATHEMATICS	20.0	3.0	5.0	5.0	4.0	17.0	85.0%	A2	9.0
GENERAL SCIENCE	20.0	3.0	5.0	5.0	4.0	17.0	85.0%	A2	9.0
SOCIAL STUDIES	20.0	3.0	5.0	5.0	4.0	17.0	85.0%	A2	9.0

Total Mark - 100.0/120.0	Overall Percentage - 83.33%	Grade - A2	Grade Point - 9.0
--------------------------	-----------------------------	------------	-------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	Sri Ramula Sahith	Class	VII - E
Father Name	Kishan	Roll #	27
Address	Ananthagiri		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	3.0	5.0	4.0	5.0	17.0	85.0%	A2	9.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 115.0/120.0	Overall Percentage - 95.83%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	CH SaiPrakashReddy	Class	VII - E
Father Name	PratahpReddy	Roll #	28
Address	Kamalapur		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	3.0	5.0	3.0	5.0	16.0	80.0%	A2	9.0
HINDI	20.0	3.0	4.0	4.0	3.0	14.0	70.0%	B1	8.0
ENGLISH	20.0	3.0	5.0	5.0	5.0	18.0	90.0%	A2	9.0
MATHEMATICS	20.0	3.0	5.0	5.0	4.0	17.0	85.0%	A2	9.0
GENERAL SCIENCE	20.0	2.0	4.0	4.0	4.0	14.0	70.0%	B1	8.0
SOCIALSTUDIES	20.0	3.0	5.0	5.0	3.0	16.0	80.0%	A2	9.0

Total Mark - 95.0/120.0	Overall Percentage - 79.17%	Grade - B1	Grade Point - 8.0
-------------------------	-----------------------------	------------	-------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	B Sai Shashank	Class	VII - E
Father Name	Bheem Rao	Roll #	29
Address	Binola		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	4.0	5.0	4.0	5.0	18.0	90.0%	A2	9.0
HINDI	20.0	4.0	3.0	3.0	3.0	13.0	65.0%	B1	8.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	3.0	5.0	5.0	3.0	16.0	80.0%	A2	9.0
GENERAL SCIENCE	20.0	4.0	4.0	4.0	4.0	16.0	80.0%	A2	9.0
SOCIAL STUDIES	20.0	4.0	5.0	4.0	4.0	17.0	85.0%	A2	9.0

Total Mark - 99.0/120.0	Overall Percentage - 82.50%	Grade - A2	Grade Point - 9.0
-------------------------	-----------------------------	------------	-------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	M Sharath	Class	VII - E
Father Name	Sathyam	Roll #	30
Address	Navipet		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	4.0	4.0	18.0	90.0%	A2	9.0

Total Mark - 117.0/120.0	Overall Percentage - 97.50%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	A Varshith	Class	VII - E
Father Name	Giribabu	Roll #	31
Address	Navipet		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	3.0	5.0	3.0	5.0	16.0	80.0%	A2	9.0
HINDI	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	2.0	5.0	5.0	5.0	17.0	85.0%	A2	9.0
SOCIAL STUDIES	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0

Total Mark - 108.0/120.0	Overall Percentage - 90.00%	Grade - A2	Grade Point - 9.0
--------------------------	-----------------------------	------------	-------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	L Vipul	Class	VII - E
Father Name	Sayanna	Roll #	32
Address	Dupally		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	4.0	5.0	4.0	5.0	18.0	90.0%	A2	9.0
HINDI	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 115.0/120.0	Overall Percentage - 95.83%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	Md Zaid	Class	VII - E
Father Name	Khaleel Ahmed	Roll #	33
Address	Navipet		

C) Child's Performance

Subject	Total Marks	Slip test / 5.0	Written work / 5.0	Project work / 5.0	Children partic.. / 5.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	3.0	5.0	4.0	5.0	17.0	85.0%	A2	9.0
HINDI	20.0	3.0	3.0	3.0	4.0	13.0	65.0%	B1	8.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	4.0	4.0	4.0	4.0	16.0	80.0%	A2	9.0
GENERAL SCIENCE	20.0	3.0	4.0	4.0	4.0	15.0	75.0%	A2	9.0
SOCIAL STUDIES	20.0	4.0	5.0	4.0	4.0	17.0	85.0%	A2	9.0

Total Mark - 97.0/120.0	Overall Percentage - 80.83%	Grade - A2	Grade Point - 9.0
-------------------------	-----------------------------	------------	-------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 5 = A1 : >= 4.5, A2 : >= 4.0, B1 : >= 3.5, B2 : >= 3.0, C1 : >= 2.5, C2 : >= 2.0, D : >= 0.0
FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0